TABELA SINUSOW

Dokladne wartosci funkcji sinus dla argumentéw od 0° do 90° z odstepem co 3°.
Wryliczyl i opracowal: mgr Michal Kosacks.

« @ sin «
0° | o0 0
90 | T V2-(V3+1)-(V5-1)—-2-(V3-1)-V5+V5
60 16
o 6-(5—V5)— V51
130 8
90 7r V2-(V5+1)—2-v/5-15
20 8
E V2 - (5+VE) —V3-(V5-1)
12° | = <
o| T V6 -2
o ™ \/5—1
18° | 15 I
oo | 77 2-(V3+1)-vV5—-vV5—-v2-(vV3-1)- (vV5+1)
60 16
.| 2r V3-(VB+1) —/2-(5-V5)
2140 | = <
o7o | 37 2-V5+V5-v2-(v5-1)
20 8
30° T 1
6 2




« ) sin «
gz0 | LT V2-(V3+1)-(VE-1)+2-(vV3-1)-V/5+5
60 16
o us 2(5_\/5)
36° | % —
qg0 | 137 V2 -(V3+1) - (V5+1)—2-(V3-1)-vV5-+5
60 16
| o7 6-(5+V5) —v5+1
42° | = <
| om %)
45| 5
o | 4m 2-(6+V5) +V3-(V5-1)
48° | & 2
o | 177 | 2:(VB+1D)-VH-VE+V2-(VB-1)- (VB4 1)
60 16
o 3 V41
T I
g0 | 197 2-(V3+1)-vV5+V5—v2-(V3-1)- (V5 1)
60 16
o T \/g
60° | 3 5




« ) sin «
o | 17 2-V5+v5+v2 (V5—1)
20 8
oo | U7 V6 (5—V5)+V5+1
30 8
goo | 287 | V2 (VB4 1) (VB4 +2-(VB-1) V55
60 16
. or 2(5+\/5)
T2 = —
o | Om V6 ++/2
o | 137 6-(5+v5) +v5 -1
ge | 9 V2 (V5+1)+2-v/5-+56
20 8
g | 147 V3. (VB4 1) +1/2- (5 - V5)
30 8
gro | 297 2-(V3+1)-vV5+vV5+v2-(V3-1)-(vV5-1)
60 16
90° g 1




